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Given	the	answer	to	question	5,	
what	can	we	now	conclude	the	
root	cause	of	the	nonconfomity	
to	be?

Are	there	any	actions	which	can	
be	taken	to	prevent	the	root	
cause	from	occurring	again?

Any	other	comments:
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xx	/	xx	/	xxxx

5 Why's:  Please answer the following questions in a logical and straightforward way.  
Question	1:		Why	did	the	issue	
occur?

Question	2:		Why	did	the	
answer	to	question	1	occur?

Question	3:		Why	did	the	
answer	to	question	3	occur?

Question	4:		Why	did	the	
answer	to	question	4	occur?

Question	5:		Why	did	the	
answer	to	question	4	occur?


